
38 

i.3
8 

35 

e.35 

e.
50

 

i.50 

e.38
 

i.5
0 

 270 

e.50 

 137 

M12x1.25

LV ONE EVO RHS 
Stainless steel 
Cod.3014228482U

6x Short helical 
spring tensile
cod. 303949001

2x Allen screw
M8X20 T.C.Z.B.
Cod.200722

2x Plain washer 
8x 24

Cod.200321

Pipe LHS s.s
cod. 3014349201Pipe RHS s.s

cod. 3014349202

Pipe 2/1 s.s
cod. 3014360201

Pipe s.s
cod. 3014360203

Welded Db-Killer N°71 
Cod.3014349801

Silencer bracket s.s.
Prod. cod.3014349501
Purch cod.206673

2x Knurled collar nut
M8 Cod.200298

2x Flange
cod.204569

M6x20

OPTIONAL
cod.5683

BIKE'S FRAME

Carbon clamp FM4S
Cod.307572505

2x S.s bushing
cod.204833

3x Allen screw M6X20
T.C.Z.B. Cod.203508

3x Knurled collar nut
M6 Cod.200333

Manifold bracket s.s.
cod.083275001

ø50

ø45

3x Plain washer 
6x 12

Cod.200291

BIKE'S FRAME

35,1 
43 
47 

33 
41 

 2
5,

5 

 1
8,

5 
 4

,5
 

 3
 

S.s bushing
cod.204833

 9
 

 12 
 

4 

44
 

 82 

 6
0 

 62 

S.s Flange 112A
cod.204569 Sp.5mm

 100 

 1
13

 

Db-Killer 59B
Cod.3014228803

Nylon zip 
cable tie
cod.402489

ART.14360EU

YAMAHA MT-07 / XSR 700 / XTRIBUTE / YZF-R7 (Also fits 35kW version) 

FULL SYSTEM - LV ONE EVO - STAINLESS STEEL 


	DT-14360EK
	Vista del disegno1
	Vista del disegno4
	Vista del disegno5
	Vista del disegno14
	Vista del disegno43

	DT-14360EK -SPARE PARTS
	Vista del disegno69
	Vista del disegno70
	Vista del disegno71
	Vista del disegno72
	Vista del disegno73

	DT-14360E
	Vista del disegno44
	Vista del disegno45
	Vista del disegno46
	Vista del disegno47
	Vista del disegno48

	DT-14360E -SPARE PARTS
	Vista del disegno74
	Vista del disegno75
	Vista del disegno76
	Vista del disegno77
	Vista del disegno78

	DT-14360EBK
	Vista del disegno49
	Vista del disegno50
	Vista del disegno51
	Vista del disegno52
	Vista del disegno53

	DT-14360EBK -SPARE PARTS
	Vista del disegno79
	Vista del disegno80
	Vista del disegno81
	Vista del disegno82
	Vista del disegno83

	DT-14360EB
	Vista del disegno54
	Vista del disegno55
	Vista del disegno56
	Vista del disegno57
	Vista del disegno58

	DT-14360EB -SPARE PARTS
	Vista del disegno84
	Vista del disegno85
	Vista del disegno86
	Vista del disegno87
	Vista del disegno88

	DT-14361EK
	Vista del disegno59
	Vista del disegno60
	Vista del disegno61
	Vista del disegno62
	Vista del disegno63

	DT-14361EK -SPARE PARTS
	Vista del disegno89
	Vista del disegno90
	Vista del disegno91
	Vista del disegno92
	Vista del disegno93

	DT-14361E
	Vista del disegno64
	Vista del disegno65
	Vista del disegno66
	Vista del disegno67
	Vista del disegno68

	DT-14361E -SPARE PARTS
	Vista del disegno94
	Vista del disegno95
	Vista del disegno96
	Vista del disegno97
	Vista del disegno98




